
1�og��

1. O�e���EÝ


A =

(
λ1 1

0 λ2

)
, B =

(
0 1

−λ1λ2 λ1 + λ2

)

� JordanIO.(J«: I�é λ1, λ2���©�¹?Ø).

2. O�e�Eê�þÝ


A =



α 0 0 0 0

1 α 0 0 0

0 1 α 0 0

0 0 0 β 0

0 0 0 1 β


, B =


λ 0 1 0

0 λ 0 1

0 0 λ 0

0 0 0 λ

 .

� JordanIO..

3. �E�
 A�A�õ�ª

χA = (t− 1)4(t+ 1)3t2,

4�õ�ª

µA = (t− 1)3(t+ 1)3t2.

O� JA.

4. ��"Ý
 A,B ∈ Mn(C)÷v rank(A) = rank(B)� µA = µB.

(i) y²: � n = 4�, A ∼s B.

(ii) � n = 5�, A ∼s B´Ä¤á? ¿`²\�(Ø.

5. � A ∈ Mn(C). y²: �3�é�zÝ
 S Ú�"Ý
 N ¦�

A = S +N.

6. y²: Jn(1) ∼s Jn(1)
k, Ù¥ k ∈ Z+.
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